+%) EJENEA

SENG

YZGER AR EMAEZE HEL

YZGEARWHMENEBEERIL, EFF=MK. BIER. AR, ESMHIR. TRIR. KREEZFEN L
E, TEEH—MKB26Mpa, HEERE63~520mm, BXITE0~5000mm,

HESEX
v - [T]
FEAUFE JERL BT
FEFEHAR
B RS
FNEE 1A S T+ 1A S
_— E%dﬁﬁ AR | 1 Jikgf __ E%dﬁﬁ fmm | M ket
mm cm? 26MPa mm cm? 26MPa
YZG—100XS 100 78.54 | 2042035 YZG—260XS 250 530.93 | 138041.58
YZG—125XS 125 122.75 | 31906.80 YZG—280XS 280 615.75 | 160095.56
YZG—140XS 140 153.94 | 40023.89 YZG—300XS 300 706.86 | 183783.17
YZG—160XS 160 201.06 | 5227610 YZG—320XS 320 804.25 | 209104.40
YZG—180XS 180 254.47 | 66151.94 YZG—340XS 340 907.92 | 236059.27
YZG—200XS 200 314.16 81681.41 YZG—360XS 360 1017.88 | 264647.77
YZG—220XS 220 380.13 | 98834.50  YZG—400XS 400 1256.64 | 326725.64
YZG—230XS 230 415.48 | 108023.66 YZG—420XS 420 1385.44 | 360215.01
YZG—240XS 240 452.39 | 11762123 YZG—460XS 460 1661.90 | 432094.65
YZG—250XS 250 490.87 | 12762720 YZG—520XS 520 21223.72 | 552166.32

51



YZGER AR EMAEZE HEL

B ZEEN
mm
d D D1 | D2 | D3xi® D4 L|L: |L:[6-M
100 d140| - | M27x2 _
125 $180] - | M27x2 _
140 | $310{p210[p194| - | M27x2(300[ 140 |70 | -
160 | $360|p230[hp230] - |M33x2(320[140 |70 | -
180 | #360|db260[p260] — | M33x2 (350165 |80 | -
200 | $380|p280|p280| - | M42x2|375|165 80| -
220 | $p400[$p310|p310] - | M42x2 (400|185 [100| -
230 | $410|p310|p310| - | M42x2|410| 185 |[100| -
240 | $420| $340|b340| p54x5 | 120 [430[ 185 |[100|M16
250 | $460|$H350|b355| h54x5 | 120 [430( 220 |110|M16
260 | $505|b360|b360| d54x5| 120 |440| 260 |135|M16
280 | $520| $395|b395| p54x5 | 120 460|280 |135|M16
300 | $540|h410|b410| p54x5 | 120 460|280 |160|M16
320 | $570|dp440|h440| p54x5 | d120 475|285 |200| M16
340 [ $590| b 465|d465|d66.5x5 136 [520] 300 |200| M24
360 | $610|h500{d480(h66.5x5| 136 [630] 330 [200| M24
400 | $680|b570|d570(h66.5x5] d136 [690] 330 |200|M24
420 | $735|p612|d612| $70x5 | d140 |700| 380 |250| M24
460 | $790| $660|b660| $70x5 | b140 |710| 380 |270|M24
520 | $900|d730|d730| $80x5 | 160 [800| 495 [270|M24

52

0519-86162362

L+S

o1 b O iR AL
FhEFE v B, 1T
B AT R RE
2., /NI REZE M EL 0 A7
Bl B E,.
3. DUMFEZERL 23 E R
s BLkAMED2 <D



{6 45 =0 iR E EI

HHENRELETUGIRRKIFTENEASRERIEETNREL, ERTIEAMEREERDA/N (17
BALUKTREERHRLSRK) (76, MBNRELXRSREELT. ZRIBELNITEESD, TFTE, RKE,
ERRY, SRITEMTERSFSHTRESZAFERAETRIT.

BESEX
2] [16] x [ x [] - [t6Mpa
2-2% IRz S Ty FE )
i % 3 - 34
# - #5%
i 445 S FLAR
B REEN (HIZRER)
! L2
‘LT 2-9R 2-M?
<| —
e = @35
o m
N1 B B BN gt i |
L | .@_
1
i
D D JUXE
H G
L
30
o Lol
|
© |— o= —
|
oo O-+0
J K J
BEERMTE) BEEN/ MpagBEH/Mpa) BT | R¥EML | PA | @B | C D E F G | H J
2TGI-95x600 10 15 600 580 32 | 63 | 118 | 50 | 65 | 15 | 131|110 | 32
2TGI-95x900 10 15 900 730 32 | 63 | 118 | 50 | 65 | 15 | 131|110 | 32
BME@EEgTE)| K | L1 | L2 M1 M2 N ®0 P Q | R | ® | od X Y
2TGI-95x600| 247 | 35 | 56 | M18x2 | M12x1.5 | 140 | 9 110 | 15 | 20 | 95 | 25 | 26 | 19
2TGI-95x900| 397 | 35 | 56 | M18x2 | M12x1.5 | 140 | 9 110 | 15 | 20 | 95 | 25 | 26 | 19

53




0519-86162362

4530k EEL
B ZERR GhEEER)
2-EE €
P > !
(B I
Lig—s - = &
!
_ _ _ (@h)| =iy | [ Lo
\} S }L o
I
|
- — — - -
Lisl A== =
ol ® | x||L_DE || X
F H E C B J
. IP
TL
S @ERITR) BUEEN/ MpaizBmESI/Mpa BT | LEIEG MM A B| C | oD | E F H
2TGI-98x300 4 6 300 103 27x1.5 | 20 5| 56 | 70 | 41 | 22 | 188
2TGI-98x600 4 6 600 103 27x1.5 | 20 5| 56 | 70 | 41 | 22 | 338
BE@ERMTD| ) DE TP TL X oTO | OTU EE
2TGI-98x300 | 110 90 120 180 30 35 25 Z1/4
2TGI-98x600 | 110 90 120 180 30 35 25 Z1/4
B ZEEN (HIFER)
L1
2-9R
o
Sp o
=L i
_Q\
-@.
1
A
L
* (H
e e (=
] :
BS ERdTR) BEE N/ MpaRBE/Mpa) ST | RIIEL | @A | OB E F SRG | H L1 L2
2TGI-95x600 10 15 600 625 32 | 63 | 65 | 15 | 30 | 45 | 35 | 56
2TGI-95x900 10 15 900 775 32 | 63 | 65 | 15 | 30 | 45 | 35 | 56
B S (@279 M1 M2 ®R o | od J | X Y
2TGI-95x600| M18x2 M12x1.5 20 95 |25 28| 26| 19
2TGI-95x900| M18x2 M12x1.5 20 95 |25 28| 26| 19

54




FZiikE

e 48 30 i [E L
W SR i3
M 3
N —
¥ 1 f '—':_ ,_E ~ g60|
, , H o
“‘;I:ﬂ u:E‘z' ' e [
— y I !A
T |
! G1/2
L LT ]
S B | B
' | C
BRum-T AR & 5% Flum-Tn R & 3 Flim-RAB &R %
Bin-TNERERT
BE (178 | K& fBRHER IEvalih) LR BE A=
(mm) (mm) B (mm) (kg) | (t)
(kg)
46| 61| 76| 91|107(127)|146 A B C D B G H I L{M]|N R
AL00078 700 3 oO|0fO - - - - | 3000 [110(115(195(| 95 | 35 [145(315| 70 |385|100| 45 |1/2"| 17 | 2.7
AL00076 680 4 o|0fO 0] - - - | 5000 {130|135(215|114( 35 |145(250| 70 {320|100| 45 |1/2"[ 19 | 3.3
AL00098 105| 4 oO|0fO 0] - - - | 5000 {130|135(215|114| 35 |145(310| 70 (410|100| 45 |1/2"[{ 28 | 5
AL001041200 4 - 0|0 0|0 - - | 8000 [145(150(230|127| 40 |155(380| 80 [460|115| 55 |1/2"| 35 | 8.1
AL001121500 4 - 0|0 0|0 - - | 8000 |145|150|230(127| 40 |155|455| 80 |353|115| 55 |1/2"| 38 | 10
Flim-TERER T
BE 1718 (K& fBRHER Eval:h) LR B 52
(mm) (mm) HHES (mm) (ka)| ()
(ka)
46 | 61| 76 | 91 |107|127|146 A|B|C|D|E|G|HI|TI L|P|Q
Al00099|1050] 3 | - 0|0 | 0] - - - | 5000 |130|135|215|114| 35 |108(430| 33 [463| 60 [ 31 | 33 | 58
A EHRERT
BE 178 | K& RHER IEvl:h) LR B B=E
(mm) (mm) B (mm) (kg) [ (1t)
(kg)
46 | 61| 76 | 91|107|127|146 A B C D E = H I L Pl Q
ALO0087(700| 3 | O | O| O -] - - - 3000 (11011519595 | 45| - |315|36(351| 45|26 | 17 | 2.7
ALO0093(800| 3 0 0|0 - - - - 3000 |110(115(195|95| 45| - [345|36(381(45(26| 18| 3
AL00100(1050f 3 0 0|0 0 - - - 5000 |130(135(215|114| 45| - |425| 33 [458( 60 | 31| 33 (5.8
ALO0103(1150, 3 | - | O| O | O | - - - 5000 [130|135|215(114| 45| - |460| 33 (493| 60| 31| 36 |6.3
AL00105(1200| 4 - 0|0 0O - - 8000 ([145|150|230(127| 45| - |380| 33 (413| 60|31 |35 ]|6.1
ALO0115(1500f 4 - 0|0 0O - - 8000 (145|150|230|127| 45| - |455| 33 (488 60| 31| 38 | 10
AL00120(1700f 4 - 0]0 0| O - - 8000 (145|150|230|127| 45| - |505| 33 [538| 60 | 31 | 45 |11.3
AL00116(1500 5 - 0|0 0O 0 - 9000 ([170|175|265|152| 45| - |395| 33 (428 60 | 31 | 51 |12.2
ALO0125(1850f 5 - 0|0 0O 0 - 9000 ([170|175|265|152| 45| - |465| 33 [498| 60 | 31 | 59 |14.9
AL00127|2150f 5 - 0] 0 0O 0 - 9000 ([170|175|265|152| 45| - |525| 33 [558| 60 | 31| 62 |17.3

55




B M EFREREL

: LA EEMNHREX

EIEEEWIR1965

i&: 0519-86162362

=S Y
(> G
M b
E-MAIL

13861861792

=: 13861861792
: www. fchyy. com
: fc@fchyy. com



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6

